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I. Attempt any four of the following.(3x4=12 Marks)
Q1. What are the advantages of closed loop control system over open loop control system.
Q2. Define and explain the terms; i) Characteristics equation ii)poles
Q3. What are the advantages of signal flow graph.
Q4. Obtain the transfer function of RC network.
Q5.Exlain Impulse response.
Q6. Construct the signal flow graph for following equations.

Xo=G12X1+G32X3, X3=G13X1+G23X2+G33X3 and X4=G24X2+G34X3

I1. Attempt any two of the following.(4x2=8 Marks)
Q1.0btain the transfer function Y(s)/R(s) by using block diagram reduction technique.

s)
J

Q2.0Obtain the transfer function Y(S)/R(S) by using Mason’s gain formula.

Y(5)

Q3. Give different rules for block diagram reduction.
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Attempt any THREE of the following questions.

Q.1 With the help of neat diagram explains the architecture of 8085 Micrprocessor.
(10 marks)

Q.2 Explain interrupt structure of 8085 Microprocessor with neat diagram.
(10 Marks)

Q.3 Design a 8085 Microprocessor based system with the following specifications:

EPROM of 8KB using 4KB chips, RAM of 8KB using 4KB chips. (10Marks)
Q.4 a) ExplainI/O Mapped I/O and Memory Mapped I/O? (5 Marks)
b) Explain T-states, Machine cycle and Instruction cycle. (5 Marks)

Q. 5 Write a program to arrange a set of given number in ascending order.
(10 Marks)
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Instructions: Q1 is Compulsory, Attempt any two out of 3 remaining questions

Q1 a) Derive the Expression for Current and Voltage travelling Wave.- 5

b) A Lossless Co-oxial cable has wavelength of electric and magnetic field of A-20cm of
960 MHZ. Find the Releative dielectric of insulation.- 5
Q2. a) A Coaxial Cable of Characteristic impedance Zo=75 ohms is terminated with a load
impedance of Z1=60+j30 ohms .Find input Impedance of Line at f=IGHz and d=50cm - 5
b) Explain Chip Resistor and Inductor with Neat Diagram - 5

Q3. Explain what is Skin depth? Calculate the skin depth for copper at 1.2GHz?
Also find the resistance of an 8 cm.Wire with diameter of .5mm? ocu = 64.516e6(s/m) 10

Q4. Plot the following Impedance points on the smith chart? Zo = 50ohms 10
23 +j 42 ohms, 12 -j 1090hms,72 +j 42.0hms and115-j 220hms . Calculate their equivalent
admittance using smith chart?

AT
B A



Date: Sepi.zor2
B'wd,\: Sxr e

IMPEDANCE SMITH CHART

Introduction to RF Circuit Design

®) N <es T

RADIALLY SCALED PARAMETEKS
TOWARD LOAD 0> <2 TOWARD GENGRATOR
0040 20 10 4 3 .23 2 W 16 14 12111 13 10 Y 2 _
dopdoy b binoefrd Y VIO TR T W 355 M ity oo ergibogdgedpbgionduwi o dud b dudopbogoghogdy by Lopbofodpholedybubon bpbp b meabgm ¥R KON Y SN O Y W W
¥40 30 0 (] 10 8 6 ¢ 3 2 1 n L1 121 1 16 18 2 3 4 8 v 2 ¥
0 1 2 343 67 R o810 12 14 0 0¥ o6l 62 04 06 08 1 15 2 3.4 ¥ 6 1018
B A e o A et S A S L SR LTS R SO S S T L VO B A t Frpebpdabopebraprprpiy bl pheg el hudpbofonied plogug by fopfogoqbydppebpbpd oy g
TUSYUIHON DEMWY 06 O, o4 (%) 02 o1 [N04) o (Y 1) 12 14 14 LB Le W L8192 8 3 4 & ¥
SRR AT TR it PRI JPRL L U I . <X - P SO . O P SO LN L
CENTRR
0,0 DA DGR D209 0DV (LS OSWENY (LWVR D7V DARWY 1 11 12 1.3 4 13 46 17 14 19 2
TSRS s 3 vt O PO WO e i 3 W T o o T i s T PO o b el it i o} i Piks bbb b
ORIGIN



Qo+ RE LD i A
Clewo: T.E. ngg} Bvanch-: €xTe
] IMPEDANCE SMITH CHART
Introduction to RF Circuit Design

Lot “Test 1

0,
I e T
g 03¢

04 10 ;...4—-;-34. 80

-

RADIALLY SCALED PARAMETEKS

iy i TOWARD LOAD B> <D TOWARD CENERATOR
P ¥10040 20 o 3 + 3 23 218 16 14 12111 13 0 7 3 4., J i
h SO S PR TFSEYUPION 1 ORI S MUROD: GO OO S0 T WP W O 4 S SRE WO e S S0 VAU Ut S S 3 0 5 €O 0 OO A G S A 3 O U 0 LGS A A S PO A S A W OV ot O | b
| ¥40 30 0 18 0] 8 6 5 4 3 2 1 19 11 -3 P I P PO F 3 408 w2 ¥
Q’% 0 12 34 3 67 % 810 12 0 ¥ S 61 62 G4 06 08 1 19 2 3 4 ¥ ¢ 10 1%
s ot o s G 8 e o i e bt o s s 8 1 v e o o roprphydeybdpprpepr e prrprbeiedpbpdodagoded g dphaf g gl dpid e fagogydppd pdpd by
»@Q TUSUNON DAY 06 0D 0.4 03 02 ul wos [} (Y 31 Ls Lé 17 18192 8 3 i 8
R RN /o AL TN s O R TR WL RO L ATETL LN, L. OOV i 6Ok e 0O B b T SO b T BB P P
CENTRR
RO, 01 p3wen A W3 03w Gbwen 07w o 41 NZ 0D NN e N7 L W e
ORIGIN




és,la[&cv{u 9‘0 , g'\ ’ 'Lf
ANJUMAN-I-ISLAM’S | (o
LSEKAR TECHNICAL CAMPUS, NEW PANVEL
Subject: Random signal analysis Date: : _
Marks: 30 . Duration: 1 Hx/s
Class: TEET Ut Tese T Branch: EXTC
Instructions: Q.1 is compulsory
Q1  Attemptany two. | (2x5=10 Marks)

(a) State and prove Baye's theorem.

(b) Explain with suitable example continuous, discrete and mixed type of
random variable.

(¢) Explain the concept of conditional probability and its properties.

Q.2 Solve any one. (10 Marks)

(A) A certain test for a particular cancer is known to be 95% accurate. A person
submits to the test and results are positive. Suppose that the person comes from a
population of one lakh, where 2000 people suffer from that disease. What is the
probability that the person under test has that particular cancer?

(B) Solve the following. (10 Marks)

()  State axiomatic definition of probability ez D
(II)  Give properties of distribution function. (o 4 )
(IV) Define probability density function. State and prove any two properties of

pdf. Co %)

Q.4 If A and B are any twc events then prove that (10 Marks)
P (AUB) =P (A) + P (B)-P (AnB) |

= R 5
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Instructions: Q1 IS COMPULSARY & Q2 , Q3 AND Q4 ATTEMPT ANY TWO.

1o/

Q1) a) Relationship between laplace transform and fourier transform . —-—-5mks
b) Relationship between Z- transform and fourier transform . ------5mks

Q2) Determine energy and power signals --—--10mks
H (n) = (\/Lyn aln).

Q3) Determine whether systems is ------ 10mks
V() =t t+10) < E) -

1.static or dynamic .

2.linear or non-linear.

3. shift variant or shift in-variant.
4.causal or non-causal.

5.stable or nonstable.

Q4) Plot the following sequence ------10mks

Y@ ‘t (-t)— ) ‘FOY )"b) s ‘/2_
c =

o for  1E) >V,

PoL 7 vect (£) -

??7 3 ved (‘Bi_") .

?TW -4 vedr C‘ty .
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‘ N.B

| N.B. (1) QNo.1is Compulsory
(2) Attempt any ONE question from Q No. 2 & 3

| L. Answer any three: [4* 3]
‘ (a) Write a short essay on Bhopal gas tragedy.
L
a1 (b) What are the sources of E-pollution & its effects?
|
|

(¢} What do you mean by ecological succession? Elaborate with an example.

automobile is one of the worst inventions by humankind.” Comment.

- Explain how every source of energy has its limits.

=

- (a) What is the impact of deforestation on the environment? Give a case study wherein the

‘al people have succesfully agitated against deforestation.

th

‘ (b) What is meant by eutrophication of lakes?
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